| SEcTiow 1.5
| EXERCSE #27

15’27 ZMAMBAWKMWM/QW\/&%/& ol
i="6
| Vg
e il L. | )
L ax= Aala78) = (44D @W@ of Metiy
Wt%w /%“‘H Z}/)
E o@/}"’ B

Vi 5‘*;/ Y T X /714[ﬁ W o z%"é/&«/v‘ ’

"L%@\’Wf e e /éx“’ s
ﬂX’/"X‘,ﬁﬁ ) (,«4/4% QMX/‘Z—&MXM

/MM /vag( lj!(‘)
rm// /4/)(’ ) 0. / : "

A~ ] prnr 7 f’ﬂ,«% o
[ Phyo Z 3‘ 4) Af
A'!(MX = A0 o~ (- 0)=0 //i;
. Ly, of M bbb lioatin) smgl .
;oé(X’)()«O . e el );’
4,/_ by Ul alih Mw’f W&XM
e P W /M(Wf/cw &

.ﬁw, e . L ]
; /WAMW ‘Eley Ll ,WW,, : -
i ak pradnint /4 Ao /MW e aglen it mmx,.%gg

eSS
et By B by e the nin thecti, L
W E A/m & EJ/X? afw w,,

B e 0 R S



SEcTiom 1.5

LAERCTSE % 27 (ontrued)

T




